e TR T

or Even
an‘l:%? gr ':\ i

T El L (5 X[n] = 7
1. X In SIS, xfmlc ¢
S0 ) e Gl e Yy 2 G SR
< T [ RALS Tt e i e n-
\(~
(W

K ERESRR . o
Q\:O-ljo-BO*n !

gC’t\l)

——

o
EUEY P S SR S 3

G T vy
\j[y;l:f]ﬁ qﬁbr 3 Och






ek j[h/}:()(fv\]\-’l e
Llhe~  x(n) = ﬁ-e\q).e)wr\
L C.J(Lb. aiaw _s s\nce -HM‘ {M«_—P\'om
) V\O-\" [\r\_ed\v-/
"r"‘U{W«\Lg/ ha{ 4 WX“)\
ol O
€ x-

\‘3 Cnl= v Calt 1 x(n MEr *[V\_'L‘B
Hled)s 1 +) e 4 g IwL
=i (I e

-L'J'W[’Lccsw L’L\
SRR e

PL\O\]'-( L‘/ M +
v Wde




]
o )
- >y
.
I :
;'
i B







6.C WEAY =1 Cn = X -1 |
,g.___k ri& Sip S e }‘Fh«sk-
\—I W_B—' 1 _e:-jzw
o R
Tl e-—Jw [ls:nwy Q,‘T"L

© %0 - S cos(T\‘V\ __\l/ﬂ
Hfd\/t

TH
H(o) = Cﬁ/”
H(t/w) = 2 Vs yCn]= 2. C_uS(*@EV\—%l_ _ffj
HEmy Sz o )
PR e LomiBa o i
“ ’\ﬂ[@.\
H(u) N '\H(-%\
A I i\ (Y 3
2y L LA C,\J\L\ (%t_JWw._&)\r
1 A
= \l_:%_ ( e)lr._\.\r\ e 1 et L }









